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QUESTION 1

A developer deploys a web application in a local data center that is now experiencing high traffic load from users
accessing data through REST API calls. Which approach enhances the responsiveness and performance of the API?

A. Use HTTP POST or other non-read methods for read requests when possible
B. Ensure that all read requests are clearly identified by the PUT method

C. Configure API payload to return errors in HTTP 200 responses

D. Use HTTP standard authorization header to submit authentication credentials

Correct Answer: D

QUESTION 2

Refer to the exhibit.

import http.client
conn = hitp.clientHTTPEConnection|"dnac.cisco.com")

headers = {
‘_runsync'’: "true”,
‘__timeout’: 30",
‘ _persistbapioutput’: "true",
}

conn.request('| |“,"/dnalintent/apilvi  [?timestamp=10000", headers=headers)

res = conn.getresponse()
data = res.read|()

print{data.decode(“utf-8"))

Which configuration of method and parameter retrieves the health of a laptop connected to the network from Cisco DNA
Center?

A. PUT; network-health;
B. GET,; client-health;

C. GET,; network-device;
D. POST; network-device;

Correct Answer: B
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Explanation: Get Overall Client Health GET /dna/intent/api/v1/client-health Returns Overall Client Health information by
Client type (Wired and Wireless) for any given point of time https://developer.cisco.com/docs/dna-
center/api/1-3-3-x/#lintent-api-v1-3-3-x

QUESTION 3

Which two gRPC modes of model-driven telemetry are supported on Cisco 10S XE Software? (Choose two.)
A. dial-in

B. dial-out

C. call-in

D. call-out

E. passive

Correct Answer: AB

Reference: https://www.cisco.com/c/en/us/td/docs/ios-
xml/ios/prog/configuration/1612/b_1612_programmability_cg/model_driven_telemetry.html#id_86392

QUESTION 4

Refer to the exhibit , The command docker build -tag=friendlyhello . is run to build a docker image from the given
Dockerfile, requirements,txt, and app.py, Then the command docker run -p 4000:80 friendlyhello is executed to run the

application.

Which URL is entered in the web browser to see the content served by the application?
A. http://localhost:4000

B. http ://localhost:80

C. http ://127.0.0.1:80

D. http:///4000:80

Correct Answer: A

QUESTION 5

Refer to the exhibit Pipenv is used to manage dependencies The test funs successfully on a local environment. What is
the reason for the error when running the test on a CI\WCD pipeline?

A. The piple in the local environment was not pushed to the remote repository
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B. All the unit tests in testsum py failed
C. Pytest did not detect any functions that start with test_\\".
D. Nose2 was not used as the test runner

Correct Answer: A
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